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BEIR) -1 A=) IE2T 363 27,700 0.0 | 27,700 0.0 = 27,700 0.0 = 27,700 CgrHl)

J=10)) -2 HHRFAIT3141-6 24,000 0.8 | 24,200 -2.8 24,900 -3.9 25,900 -3.0 26,700 -2.9 = 27,500 -0.7 27,700 -0.7 | 27,900 -1.4 28,300 -1.4 28,700 -2.7 29,500 -4.8 = 31,000 -6.1 33,000 -8.3 | 36,000
B -3 B iE LA BE327-3 6,400 -1.5 6,500 -1.5 6,600 -1.5 6,700 -1.5 6,800 1.4 6,900 -1.4 7,000 -1.4 7,100 -1.4 7,200 2.7 7,400 -2.6 7,600 -1.3 7,700 -1.3 7,800 2.5 8,000
J=10)) -4 BT AT 143 39,500 0.0 | 39,500 0.0 39,500 0.0 39,500 0.0 39,500 0.0 39,500 0.0 39,500 0.0 39,500 0.0 39,500 0.0 39,500 -1.3 40,000 -2.4 41,000 -2.4 42,000 -4.5 | 44,000
B -5 BEH IR TRM159-11 22,000 0.0 22,000 0.0 22,000 -1.3 | 22,300 -0.9 22,500 -0.9 22,700 -0.4 22,800 -0.9 23,000 -1.3 23,300 -1.3 23,600 -1.7 | 24,000 -4.0 | 25,000 -5.7 26,500 -7.0 28,500
J=10)) -6 H _EFHFNH E890-2 34,100 -0.6 34,300 -1.2 | 34,700 -1.4 35,200 -1.4 35,700 -2.2 36,500 0.0 36,500 0.0 36,500 0.0 36,500 -0.8 36,800 -1.9 37,500 -2.6 38,5600 -4.9 40,500 -5.8 = 43,000
BER) -7 B ETHR M T4 454407 9,600 -1.0 9,700 -1.0 9,800 -2.0 10,000 -2.9 10,300 -2.8 10,600 -1.9 10,800 -0.9 10,900 -0.9 11,000 -0.9 = 11,100 -1.8 11,300 -1.7 ~ 11,500 -1.7 = 11,700 -2.5 12,000
J=10)) -8 AL T T R 4417 17,300 0.6 17,200 0.6 17,100 0.6 17,000 0.0 17,000 0.0 17,000 0.0 17,000 0.0 17,000 0.0 17,000 0.0 17,000 -1.7 17,300 -3.9 18,000 -7.7 19,500 -11.4 22,000
BER) -9 BTk Y-314-15 18,000 0.0 = 18,000 0.0 18,000 0.0 | 18,000 0.0 18,000 0.0 18,000 0.0 18,000 -0.6 = 18,100 -2.2 18,500 -2.6 | 19,000 -2.6 = 19,500 -4.9 = 20,500 -6.8 = 22,000 -7.2 = 23,700
J=10)) -10 B B AN AR R T T712-340 5,700 —0.9 5,750 —0.9 5,800 —0.9 5,850 —0.8 5,900 -0.8 5,950 -0.8 6,000 -1.6 6,100 -1.6 6,200 -1.6 6,300 —0.8 6,350 -0.8 6,400 -1.5 6,500 -1.5 6,600
BHEURD -11 e EeE PEEK1193-2 . 11,300 -0.9 11,400 -1.7 = 11,600 -1.7 = 11,800 -1.7 | 12,000 -1.6 = 12,200 -0.8 12,300 -0.8 = 12,400 -0.8 12,500 -0.8 12,600 -1.6 12,800 -1.5 13,000 -1.5 13,200 -2.2 = 13,500
e =10)) 3-1 HiESFITE e /Ri264 5,400 -1.8 5,500 -1.8 5,600 -1.8 5,700 -1.7 5,800 1.7 5,900 -1.7 6,000 -1.6 6,100 -1.6 6,200 3.1 6,400 -4.5 6,700 5.6 7,100 -5.3 7,500 -7.4 8,100
BER) 5-1 BETIRET2 T H249-14+ 29,300 0.0 | 29,300 0.0 29,300 0.0 29,300 0.0 29,300 0.0 29,300 -0.3 29,400 -0.3 | 29,500 -1.7 30,000 -1.6 30,500 -4.7 32,000 -8.6 35,000 -7.9 38,000 -9.5 | 42,000
J=10)) 5-2 B E T EEFRT3104+ 38,000 -0.5 | 38,200 -0.8 38,500 -1.3 39,000 -2.5 40,000 -2.4 41,000 -1.2 41,500 -2.4 | 42,500 -3.4 44,000 -4.3 46,000 -4.2 = 48,000 -5.0 = 50,500 -5.6 53,500 -9.3 | 59,000
BER) 5-3 BT TENT2680 26,400 -0.4 | 26,500 -0.4 26,600 -0.4 26,700 -0.4 = 26,800 -0.4 26,900 -0.4 27,000 0.0 | 27,000 0.0 27,000 0.0 27,000 -0.7 27,200 -2.9 28,000 -3.4 29,000 -7.9 | 31,500
= =10)) 5—4 [H7-1 A& MEET2T H63-1 44,700 -0.7 = 45,000 -1.1 | 45,500 -1.1 = 46,000 —-2.1 47,000 -2.1 48,000 -1.0 48,500 -1.0 = 49,000 -1.0 49,500 -1.0 = 50,000 -1.0 50,500 -1.9 51,600 -3.7 53,500 -4.5 56,000
Al 9-1 BE K ET K rm257-84+ 14,600 0.0 14,600 0.0 14,600 0.0 14,600 0.0 = 14,600 0.0 = 14,600 0.0 14,600 0.0 14,600 -1.4 14,800 -1.3 15,000 -3.2 15,500 -3.1 16,000 -4.2 16,700 -1.8 17,000
=HI(R) -1 = R T AR K 964-4 18,900 —0.5 19,000 —0.5 19,100 —0.5 19,200 0.0 19,200 0.0 = 19,200 0.0 19,200 -1.5 19,5600 -3.5 20,200 -3.8 = 21,000 -3.7 = 21,800 -3.1 22,500 -4.3 | 23,500 6.0 | 25,000
=HIR) -2 ZRRT RS = R0 6253 14,700 -2.0 = 15,000 -3.2 = 15,500 -3.1 = 16,000 -3.0 = 16,500 -3.5 = 17,100 -4.5 17,900 -4.3 18,700 -3.1 = 19,300 -3.5 20,000 -2.4 | 20,500 -2.4 | 21,000 -2.3 21,500 -2.3 22,000
—HI(R) -3 — AT R TR T 2151 4,050 1.2 4,100 -1.2 4,150 -1.2 4,200 —1.2 4,250 -1.2 4,300 2.3 4,400 2.2 4,500 2.2 4,600 2.1 4,700 —2.1 4,800 2.0 4,900 CGHrED)

AR -1 BALEAT R H% R T4600-34 18,200 0.0 | 18,200 0.0 18,200 1.1 18,400 1.1 18,600 1.1 18,800 1.1 19,000 0.0 19,000 -1.0 19,200 -1.0 = 19,400 -1.5 19,700 3.0 = 20,300 -3.3 = 21,000 6.7 22,500
AR -2 BALRNT R R R115-1144 | 14,100 0.7~ 14,200 -0.7 = 14,300 -1.4 = 14,500 -1.4 = 14,700 -1.3 | 14,900 -1.3 = 15,100 -1.3 15,300 -1.3 15,500 -1.9 = 15,800 -2.5 16,200 -3.6 | 16,800 -4.0 = 17,500 -5.4 18,500
BALE(R) -3 HANENT KB % S rBE77-22 27,400 1.1 | 27,100 0.7 26,900 0.7 26,700 0.8 26,500 0.0 26,500 1.9 26,000 2.4 25400 2.8 24,700 0.0 24,700 -1.2 25,000 -2.0 = 25,500 -3.8 26,500 -5.4 | 28,000
AR -4 GBI T -2 1271-6 21,200 -0.9 21,400 -0.9 = 21,600 -0.9 21,800 -0.9 22,000 0.0 22,000 0.0 22,000 0.0 22,000 0.0 22,000 0.0 22,000 —-1.3 22,300 -3.0 23,000 —-4.2 24,000 -5.9 25,500
AR -5 AL AT KA 7R 783 9,900 -2.0 10,100 -1.9 10,300 1.9 10,500 -1.9 10,700 2.7 11,000 -3.5 11,400 -3.4 11,800 -3.3 12,200 4.7 12,800 5.2 13,500 6.9 14,500 -8.8 15,900 9.1 17,500
GiAiE(R) -6 G AT TR T 4662 5,400 -1.8 5,500 -1.8 5,600 -1.8 5,700 —2.6 5,850 —2.5 6,000 —3.2 6,200 -3.1 6,400 -3.0 6,600 —4.3 6,900 -5.5 7,300 6.4 7,800 6.0 8,300 -7.8 9,000
AR T AL AT K7 [ 5 2 5426 7,900 -1.3 8,000 -1.2 8,100 2.4 8,300 -2.4 8,500 2.3 8,700 -2.2 8,900 2.2 9,100 -2.2 9,300 -2.1 9,500 CHTH)

LU -8 G AT RN T IT 414 14,200 0.7 14,300 —0.7 14,400 -1.4 14,600 -1.4 14,800 -1.3 ' 15,000 -1.3 15,200 -1.3 15,400 -1.9 15,700 —-4.8 16,500 -5.7 | 17,500 -7.9 | 19,000 -7.3 20,500 —6.8 22,000
ZE () -1 ZEMET KPR T F 7 582 18,300 -1.6 18,600 0.0 18,600 0.0 18,600 -1.1 18,800 1.1 19,000 -1.0 19,200 3.0 19,800 -3.4 = 20,500 -3.8 21,300 -3.2 | 22,000 -4.3 23,000 6.1 | 24,500 -2.0 25,000
ZEH () -2 ZEIBT KT ) \AE AW R 1756 14,000 -1.4 14,200 -1.4 = 14,400 -0.7 = 14,500 -1.4 = 14,700 -1.3 ' 14,900 -1.3 15,100 -1.3 15,300 -1.9 = 15,600 —3.7 = 16,200 -3.6 | 16,800 -4.0 | 17,500 -5.4 18,500 -5.1 19,500
ZE(IH) -3 ZERET KT =R TFF T 139 10,500 -0.9 10,600 -1.9 10,800 -1.8 11,000 -0.9 ' 11,100 -1.8 ' 11,300 0.0 = 11,300 -0.9 11,400 -2.6 11,700 -3.3 = 12,100 -4.0 | 12,600 -3.8 | 13,100 -3.0 =~ 13,500 -3.6 14,000
ZEH(R) -4 BT R IR A& 1519 13,900 -1.4 14,100 -1.4 = 14,300 -0.7 = 14,400 -1.4 = 14,600 -1.4 = 14,800 -1.3 15,000 -1.3 15,200 -1.9 15,500 -3.7 = 16,100 -3.6 | 16,700 -3.5 | 17,300 -5.5 18,300 -5.2 19,300
ZEH () -5 BT KT\ IG5 /1615 9,300 1.1 9,400 1.1 9,500 -1.0 9,600 -1.0 9,700 -3.0 10,000 -3.8 10,400 3.7 10,800 -3.6 11,200 -3.4 11,600 -3.3 12,000 -3.2 12,400 -3.1 12,800 -3.0 13,200
ZHHR) -6 ZHRIT KT B AR FREH313 5,000 CHrED

b (BL) -1 bR e B 257 10,900 -0.9 11,000 -1.8 11,200 -0.9 = 11,300 -0.9 | 11,400 -0.9 | 11,500 -0.9 | 11,600 -1.7 = 11,800 -3.3 | 12,200 -3.2 | 12,600 -3.1 | 13,000 -3.7 | 13,500 -3.6 = 14,000 -3.4 14,500
Abs(b) -2 ALSEMT AL SR B4 /N 5971 6,450 -0.8 6,500 -1.5 6,600 -1.5 6,700 -1.5 6,800 -1.4 6,900 —1.4 7,000 -1.4 7,100 -1.4 7,200 —1.4 7,300 2.7 7,500 2.6 7,700 -1.3 7,800 -1.3 7,900
b (B) -3 AZERT R 37324 10,300 -1.0 = 10,400 -1.0 = 10,500 -0.9 = 10,600 -0.9 ' 10,700 -0.9 ' 10,800 -0.9 = 10,900 -0.9 11,000 -1.8 11,200 -1.8 11,400 -1.7 | 11,600 -3.3 | 12,000 -4.0 12,500 -4.6 13,100
Abs(B) -4 A S T P R AR 858453 19,000 0.0 19,000 0.0 19,000 0.0 19,000 0.0 = 19,000 0.0 = 19,000 0.0 19,000 -1.6 19,300 -2.0 ~ 19,700 -2.0 = 20,100 -2.0 | 20,500 -2.4 | 21,000 -2.3 21,500 -2.3 22,000
b (B) -5 AL WTHE = FREMT [ 45-5 9,500 -1.0 9,600 -1.0 9,700 -1.0 9,800 -1.0 9,900 -1.0 10,000 -1.0 10,100 1.0 = 10,200 -1.9 10,400 1.9 10,600 -1.9 10,800 1.8 11,000 -1.8 11,200 2.6 11,500
ez i) -6 LT T KM EI577-2 5,350 —0.9 5,400 —0.9 5,450 —0.9 5,500 -1.8 5,600 1.8 5,700 1.7 5,800 1.7 5,900 -1.7 6,000 3.2 6,200 —3.1 6,400 -3.0 6,600 -1.5 6,700 -1.5 6,800
BEIRGER)  20-3 ZERET KT KA T4 BAFE7850 36 2.7 37 2.6 38 2.6 39 4.9 41 2.4 42 4.5 44 4.3 46 4.2 48 4.0 50 5.7 53 8.6 58 -7.9 63 8.7 69




